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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-7 0
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P3-7

BfiE) | EBEETIC (FD) | EB=E (BAH/HK) | XK EFE

02:40 125 80.0 & FiHA@02:40 (KRHE{EREZE)
03:40 125 80.0 5 FHB@03:40 (RFEREE)
04:40 125 80.0 & FnHfe04:40 (REERES)
08:05 125 80.0 5 FiHAe08:05 (KRF{ERLEE)
09:55 125 80.0 & FHB@09:55 (KRF{ERLEE)
11:15 125 80.0 & FAe11:15 (REERZE
12:25 125 80.0 & FiHpe12:25 (KRF{ERLEE
13:40 125 80.0 & FnHRe13:40 (KRFEEREE)
15:05 125 80.0 & FnHfe15:05 (KREERSS)
21| 1125.0 (9%) 720.0 EWGHKEC: 1900.0, PH: 6.5

REX 1 B AR ECHIE R Kk
REXR BB HEREC/PHEER K, 7T
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BEFZ

MR R 56
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P3-7

BfE) | GEBAK(F) | ERE(EAH/K) (XS R

01:00 120 70.0 1] BRi&@01:00 (FKFEREE)
02:00 120 70.0 1] 1R1%@02:00 (K FHfERLES)
03:00 120 70.0 1] Bi%@03:00 (FKFERSE)
04:00 120 70.0 (2= Bi%@04:00 (FKFERSE)
08:45 120 70.0 (2= 1R1%@08:45 (K FfERLES)
10:30 120 70.0 | = BRi%@10:30 (RAFERER)
12:00 120 70.0 & B1&@12:00 (KRFEREE)
13:10 120 70.0 5 Bi%@13:10 (RFEREES)
14:15 120 70.0 5 Bige14:15 (RAHERSE)
15:35 120 70.0 = B1%015:35 (KREERSE)
23+ 1200.0 (100%) 700.0 32 3KEC: 1900.0, PH: 6.5

EREBRTKC (120. 0) 57a#A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.
RE R i3k [B] RECEIB Hh ok
BE R E B HEREC/PH{E SRS, 7T
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FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=9 (2025-04-07)
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P3-7

BfiE) | EBIET (FD) | EE (EH/AR) | XK R

06:40 120 80.0 5 318006 :40 (K FEREE)
07:40 120 80.0 |Z =& Bi%@07:40 (RFERSE)
08:40 120 80.0 5 Bi%@08:40 (KFERKSE)
10:45 120 80.0 5 18010:45 (RFERE)
12:20 120 80.0 5 BRig@12:20 (FKFEREE)
13:35 120 80.0 5 Bi%@13:35 (KREEHE)
15:20 120 80.0 |Z = Bi%015:20 (REERSE)
=23t| 840.0 (7% 560. 0 3EGHKEC: 1900.0, PH: 6.5

large discrepency for begining water status (130:270.0), set to 158.0 ml.
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FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=8 (2025-04-06)
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P3-7

Bfig) | JEBATK (FD) | ERE (AR | KR R

06:45 180 90.0 = B1%@06:45 (KRFERSE)
07:45 180 90.0 = B318@07:45 (KRFERLEE)
10:30 180 90.0 5 B1%010:30 (RFERSE)
12:40 180 90.0 & Bi%@12:40 (REERSE)
14:25 180 90.0 5 Big@14:25 (KREEREE)
Bit| 900.0 (5%) 450.0 3ZFHKEC: 1900.0, PH: 6.5

LRGERRETIC (180. 0) 57HE (141. 0) 7, WREH T S AREERS E XERR
ZRIAKPREBE115. 0 ml.

large discrepency for begining water status (114:267.0), set to 145.0 ml.
BE R i3t Bl RECEIRE ER K.

FEREBLFHEREC/PHETLK, FIRERNEERSR
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=7 (2025-04-05)
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